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Exam tips


Advice on key points in the text to help you learn and recall content, avoid pitfalls, and polish your exam technique in order to boost your grade.
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Knowledge check


Rapid-fire questions throughout the Content Guidance section to check your understanding.
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Knowledge check answers


Turn to the back of the book for the Knowledge check answers.
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Summaries





•  Each core topic is rounded off by a bullet-list summary for quick-check reference of what you need to know.
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About this book


This guide is designed to prepare you for the A-level OCR Microeconomics exam and the A-level OCR Themes in Economics exam. It includes sample questions and answers to prepare you for both papers. In addition to the content covered here, you will also need to be familiar with the content in Student Guide 1 to sit the A-level Microeconomics exam and the content in Student Guides 1, 2 and 4 in order to sit the A-level Themes in Economics exam.


The guide is split into two sections:


Content Guidance


This section explains the core microeconomics concepts required to excel in this course. This can be split into four broad topic areas:





•  Scarcity and choice



•  Competition and market power



•  The labour market



•  Market failure and government intervention





You should make sure you have fully mastered all of the content in this guide before progressing onto the practice questions. Use the Knowledge checks as you progress through the guide to test your understanding and take on board the comments to avoid falling into the traps which most commonly result in students losing marks. At the end of each topic area there is a bullet pointed summary of the content covered – if you are unable to offer a detailed explanation of any part of this you should read the section again to clear up any misunderstanding.


Questions & Answers


This section begins by setting out the format of the exam papers, giving you advice on how long to spend on each question and offering important tips on how to maximise your marks on the different elements of the paper. It also explains the levels system used to mark essays.


This is followed by a series of sample questions. After all of these questions there are some example answers from students. You should practise all of these questions yourself and compare your answers to these while reading the detailed comments to improve your understanding of what is required to achieve full marks.





Content Guidance



Scarcity and choice


The concept of the margin


The concept of the margin is crucial in understanding how economists model decision making. The marginal principle suggests that individuals make decisions by considering the impact of small changes from the existing situation, essentially making tiny adjustments to their behaviour in order to achieve the best possible outcome. The concept of opportunity cost is, of course, based upon this principle, where an individual makes a choice in favour of something that delivers them greater benefit than the next best option. The margin can therefore be used to model decision making on both an individual and a societal level:





•  Individuals weigh up the marginal benefit against the marginal cost of an action when deciding whether to proceed with that action. Individuals will proceed only when the marginal benefit exceeds the marginal cost, as it is in this instance that they will be better off from taking the action. When the marginal cost exceeds the marginal benefit they would be better off not proceeding, meaning individual behaviour remains unchanged when the marginal benefit equals the marginal cost, as there is no incentive to change the decision in this instance.



•  Social optimum is arrived at using the same logic, occurring where marginal social benefit is equal to marginal social cost. We know from our study of market failure that this social optimum is sometimes not reached — for example, in the case of healthcare, the marginal social benefit would exceed the marginal social cost if provision of this service were left to the free market.
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Knowledge check 1


Why is the social optimum of marginal social benefit equals marginal social cost unlikely to be reached if healthcare provision were left to the free market?
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Marginal utility theory


Economists refer to the satisfaction individuals derive from consuming a particular good or service as utility. The concept of utility can be used to explain the slope of the demand curve. Because individuals make decisions on the margin, we need to look at the marginal utility deriving from the consumption of a good or service — the additional utility gained from consuming an extra unit of a good or service. This gives rise to the law of diminishing marginal utility, which proposes that as consumption of a good increases, the benefit you derive from consuming each additional unit decreases.


Consider the example of purchasing a car. Individuals derive significant utility from the first car they own — without this first car, they would find it much more difficult to go about their daily lives. Wealthy individuals might decide to purchase a second car. While they enjoy some utility from this — for example, it enables them to drive a small car for city trips and a larger car for family holidays — the additional utility this second car brings is clearly smaller than that of the first car. By the time the individual purchases a third car the additional utility has diminished further — utility is enjoyed only on the one occasion a year when both of the other cars are being repaired. This simple principle of diminishing utility can be applied to the consumption of all goods and services.


This therefore explains why the demand curve is downward sloping — the price an individual is willing to pay for a good or service decreases the more of it they consume as consumption becomes increasingly less valuable to them because of the diminished utility they enjoy from additional units of consumption. As illustrated in Figure 1, if a monetary value could be placed on utility, the price an individual would be willing to pay to consume Q* units of the good would be equal to the marginal utility (MU*) the individual derives from consuming the final unit of output. They would only be willing to consume more than Q* at a lower price because the marginal utility of consuming more units would be lower than MU*.
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Rationality


Using the concept of the margin to model the behaviour of economic agents is based on the assumption that rationality holds — economic agents always do what they expect brings the best possible results. However, behavioural economists argue that this is an unrealistic assumption, citing many examples of situations when consumers make decisions that are not in their best interests and firms make decisions that cannot be seen as profit maximising. This is because economic factors are not the sole influence on decision making — individuals often act on impulse in response to their feelings. The impact of emotion on decision making is ignored by marginal analysis, yet is clearly important in understanding how individuals behave.


A simple example of this can be seen in how individuals behave while doing their weekly supermarket shop. Assume utility can be measured in monetary terms and an individual derives £2 utility from consuming one bag of oranges and £2.80 utility from consuming the second bag of oranges. The supermarket is selling bags of oranges on a promotional deal of ‘Buy one get one half price’, with the full price being £1.80. If the individual were behaving rationally they would purchase just one bag of oranges — the decision to purchase a second bag at a price of 90p is not rational because they derive only 80p utility from the consumption of that bag (£2.80 − £2). However, many individuals faced with such a choice will purchase the second bag as they are drawn towards the special offer. Such emotional decision making goes against the concept of the margin.
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Knowledge check 2


Is giving money to charity evidence of individuals behaving rationally?
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Summary


After studying the topic of Scarcity and choice you should be able to:





•  Explain what is meant by the concept of the margin and understand how marginal values can be calculated from a set of data.



•  Understand how the marginal concept can be applied to the decision making of economic agents.



•  Evaluate the extent to which individuals behave rationally and therefore whether the concept of the margin is useful to economists in explaining the decision making of economic agents.
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Competition and market power



Business objectives



Profit maximisation


One of the most fundamental assumptions economists make in constructing the theory of the firm is that firms aim to maximise profits. Profit can be calculated as follows:


    Profit = Total Revenue – Total Cost


A firm is said to be making a normal profit when:


    Average Revenue = Average Cost or Total Revenue = Total Cost


At first glance this may seem confusing — how can a firm be making a profit when its revenues are only equal to its costs? This can best be explained by an example. Suppose an accountant quits her £50,000-a-year job to set up a bakery. The total revenue of her bakery is £95,000 and the total cost (costs of premises, employees, ingredients, electricity etc.) is £45,000. To say the individual enjoys a £50,000 profit from running the bakery would, however, be incorrect, as it is ignoring the individual’s opportunity cost. In choosing to run the bakery the individual is sacrificing the £50,000 she could have earned as an accountant. Economists include this opportunity cost — essentially the cost of enterprise — in total cost, meaning in this instance the bakery is earning a normal profit. Any profits made by a firm above this level are known as abnormal or supernormal profits.


The profit-maximising level of output occurs when marginal revenue (MR) equals marginal cost (MC). This can be proven by explaining why all alternative levels of output would not be profit maximising. If marginal revenue exceeded marginal cost, the change in total revenue as a result of increasing output by one unit would exceed the change in total cost as a result of increasing output by one unit, meaning more profit could be made by increasing output. Similarly, when marginal cost exceeds marginal revenue, firms are making a loss on the production of the last unit of output, meaning profit could increase by reducing output. The profit-maximising level of output therefore occurs when MC = MR.
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Exam tip


The profit-maximising condition is crucial in constructing all of the theory of the firm diagrams — memorise it and make sure you fully understand why profits are maximised at the level of output where MC = MR.
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Alternative maximisation objectives


In some circumstances firms may choose to maximise something other than profits. Examples of such alternative maximising objectives are:





•  Revenue maximisation — many managers are paid salaries that are related to total revenue rather than profits. This therefore incentivises managers to aim to maximise revenue rather than profit. Production will take place where MR = 0. Clearly a revenue-maximising firm will produce a higher level of output than a profit-maximising firm, as it will continue to produce output even when MC > MR providing total revenue is still increasing (i.e. MR > 0).



•  Sales maximisation — when managers are paid salaries related to the volume of sales they may be incentivised to sales maximise. This may lead to even greater output than in the revenue-maximising case, as firms will continue to increase output even if total revenue is falling as total sales will be increasing. They will continue to do this until the point where Total Revenue = Total Cost, beyond which the firm would have to close down.



•  Growth maximisation — a manager’s reputation will be enhanced if they oversee significant growth of the firm. To achieve this they are likely to follow a similar strategy to that outlined above, where they will continue to produce output until they are making a normal profit.



•  Utility maximisation — there is evidence that some managers will set out to maximise satisfaction. Satisfaction can be derived in a number of ways. For example, they may be prepared to forgo high levels of profits or sales in order to have a large office and expensive company car. In some instances, managers might even be seeking to maximise the utility of their consumers when making business decisions.





The principal–agent problem


As indicated above, it is when managers are not incentivised by profit that they will pursue alternative objectives. This is most likely to occur in large firms, particularly public limited companies, which are owned by a large number of shareholders. In these firms there is a separation between ownership and control. The owners (the shareholders) are motivated by profit, but they are not the people with the control over the day-to-day running of the business (the managers). This creates what is known as a principal–agent problem — the principal (shareholders) delegates decision making to the agent (managers), but the agent has different motivations from the principal and therefore may take decisions that are not in the principal’s best interests. Clearly, this problem occurs only when such a separation between ownership and control exists — in small firms, the owners are more likely to be involved in the day-to-day running of the business and so they are more likely to display profit-maximising behaviour.
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Knowledge check 3


Are small or large firms more likely to pursue alternative maximising objectives?
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Of course, even in public limited companies, the principal retains a degree of control over the agent. If managers completely ignore profit to focus on alternative objectives they can ultimately be sacked by shareholders. This often leads to behaviour known as profit satisficing, where managers aim to produce a satisfactory level of profits needed to keep the shareholders happy and therefore keep them in a job while at the same time pursuing whatever alternative objectives they are motivated by.


Is profit maximisation a sensible assumption to make?


Given the number of alternative objectives firms are sometimes seen to pursue, it is reasonable to question whether profit maximisation is a sensible assumption to make when analysing the behaviour of firms. The reason it remains relevant is that while many of these alternative objectives conflict with profit maximisation in the short run, they can be seen as being consistent with profit maximisation in the long run. For example, while sales or revenue maximising may limit profits in the short run, it may be essential in developing the market share required to maximise profits in the long run. Equally, while a number of firms spend a significant amount of money on corporate social responsibility (CSR) initiatives designed to improve the local community, this can be seen as an important part of developing the reputation of the firm, which again could be important in maximising profits in the long run.


The relevance of profit maximisation does however ultimately depend upon the nature of the firm being considered. There is no question that a small private firm can be accurately modelled by profit maximisation in both the short run and the long run. For the reasons outlined above, in the case of larger firms profit maximisation is more realistic in the long run than the short run. It is only in the case of public sector and voluntary organisations that there seems no place for the theory of profit maximisation, as even the owners of these firms are not incentivised by profit.


[image: ]




Knowledge check 4


What is likely to be the main objective of public sector and voluntary organisations?


[image: ]






Market structures and their implications for the way resources are allocated and the interdependence of firms


Barriers to entry and exit


Understanding whether there are barriers to entry or exit in an industry is crucial in determining which market structure should be used to model firms’ behaviour in that industry. Such barriers can take a number of forms:





•  Economies of scale — if large firms are able to benefit more from significantly lower average costs than small entrants it makes it very difficult for a new firm to enter the market, as they are unable to be price competitive with the incumbent firms.



•  Brand loyalty — where consumers are loyal to a particular firm it is difficult for a new firm to enter the market, as it will be unable to attract customers even if its product is cheaper or of better quality without spending large amounts on advertising.



•  Legal — in some cases new firms are unable to enter the market because existing firms have patents in place preventing firms from producing the same product. This is usually to protect intellectual property rights in the case of new inventions.



•  High start-up costs — new firms will find it difficult to enter an industry that has high fixed costs which need to be paid in order to compete.





Equally, once firms are in the market, there are a number of obstacles they may face that make it difficult for them to leave. Such obstacles are known as barriers to exit. The most common types are:





•  sunk costs — when there are significant start-up costs that firms could not recover if they were to leave the market (such as advertising expenditure), firms are deterred from exiting because of the losses that would result



•  contracts — firms may have entered into a number of agreements that prevent them from leaving the market immediately. For example, they may have signed a 1-year lease on premises or they may have made a commitment to supply their product to a particular consumer for a set period of time.






Perfect competition


Assumptions


The following assumptions underpin the model of perfect competition:





•  Short-run profit maximisation — firms are motivated by achieving the greatest profit possible and therefore produce at the profit-maximising level of output where MC = MR.



•  Many buyers and sellers — there are no dominant firms in the industry, which is instead full of many small firms. This means no firm has the ability to influence the market price and suggests there are no economies of scale to be enjoyed.



•  Homogenous products — firms produce identical, non-differentiated products. Consumers therefore have no brand loyalty to a particular firm.



•  No barriers to entry or exit — firms are able to enter the market without cost if they believe it is profitable to do so and can leave without difficulty.



•  Perfect knowledge — all buyers and sellers have perfect information. Buyers know the prices that all firms in the market are charging and all firms have perfect information about the production methods of other firms.
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Exam tip


The assumption of homogenous products is important in the model of perfect competition as it means firms are unable to develop market power through becoming the preferred seller of some consumers.
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The demand curve


The fact that no firm has market power means that all firms are price takers — they have to accept whatever price is set by the market as they have no ability to impact the price. This means firms face a perfectly elastic demand curve, as illustrated in Figure 2.
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If firms attempted to set a price above P1, they would lose all of their demand, as all consumers would switch to the many other firms selling the identical product at a price of P1. Given that the demand curve is perfectly elastic and that a firm’s output is small relative to industry output, this means a firm can set as much output as it likes at a price of P1 — it therefore has no incentive to lower its price to gain more customers as there is unlimited demand at the market price.


Short-run equilibrium


When determining the equilibrium output level and price in theory of the firm analysis, it is important to adhere to the following two rules:





1  Set output where MC = MR — i.e. at the profit-maximising level of output.



2  Set the price at the corresponding point on the demand (AR) curve — i.e. the highest price that can be charged to generate enough demand to purchase the level of output produced.





Figures 3 and 4 illustrate two possible short-run equilibriums. In Figure 3, the firm is making a supernormal profit equal to the size of the shaded region. This is because average revenue exceeds short-run average total costs. In Figure 4, the firm is making a loss, as short-run average total costs exceed average revenue.
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Long-run equilibrium


The fact that no barriers to entry or exit exist in the model of perfect competition means the equilibriums illustrated in Figures 3 and 4 will not exist in the long run. Consider the case of short-run supernormal profits illustrated in Figure 3. New firms will be incentivised to enter the industry to enjoy the supernormal profits being made, causing industry supply to shift to the right from S1 to S2 in Figure 5. This causes the price that firms receive to fall from P1 to P2. Another way to see this is that each individual firm experiences a lower level of demand for its product (D2) because there are now more firms in the market. Firms will continue to enter the market until supernormal profit has been eliminated.
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